I Coui N L S DU S
hH € v i) G Qe S
— Dl QP Code : 31284
NN Y C \
[ REVISED COURSE ]
4Hours Total marks : 8¢
NOTE:. o
1) Question No. | is compuisory.
i) Attempt any three out of the remaining five questions.
iii) Figure to the right indicates full marks.
iv)  Assume suitable data if requ'red
Q.1 Work out the quantities of fo! iowmﬂ items from given plan & section. (Fig. 01) 20

2* Evr -ation for feotings
b} Brick work (C:M= 1:6) in super structure of ground fioor
__ ) Concrete (M20) in footings
d) 20 mm thick External'plasteringin Cvi=—t4-upto tervace level. .
Q.2 A). What is task work? Illustrate with an example. Perform rate avalysis for UCR
masonry in cement motrtar 1:6 I
B). What is the difference between brief specification and detailea specification of an ¥
item? Explain with an example.
C). Define mass diagram. Explain the use of mass diagram .. N

o

Q.3 A). Enlist different methods of calculating approximate | estimate with suitabiiity? Prepare 8
an approximate estimate of cost for (G+2) RCC framed structure building. There are four
flats on each floor and having carpet area of 1200 saft'each Consider cost of construction
of super structure = Rs. 850/sqft. Assume other rec,nued data.

B). Explam in detail the different types. of tenders with suitability and advantages,
C). What is the pu pose of rate analys:s" Prepare the abstract of items of question
number.C1

Q.4 A). A concrete mixture was purchased for Rs. 60 tacs. Assuming the salvage of Rs. 3 fac
at the end of 11 years. Calculate boek value and depmcmuot. at the end of first live vears
by constant percentage method.1 ‘ :

B).What is a contract? What ‘ars-the different types ofcmi enuineering contract”? State the 8
suitability of ltem rate contract. How does the contractor quote the rate and get payment
in item rate contract?

o

L

C). Eulist- ditferent methods fm valuation ol land? E\plmn Beliing method ol valuation

Troritand withun examipler - - - o el

Q.5 A). Determine :he quantities of earthwork for the portion of a road between chainages SC 1Y
and 60 from tihe fol]o“mﬁ da(a lenuh bemu measuud with a standard 20 m lem -

T | 1 . i

M T i 1
i chainage | - 30 | 51 52 . 53. | 34 | [t 56 SER 9 o
. i - i

"
n

?
G.L.. LY |3‘|j |30<5 131'-.'2 ‘x 0.8 | 1507 ] :oo. 1304701290
Tl Lommt on level at t.lmwavc \0 is 130 0 and :I road is in 'mnu umd:cnl of 1in 200.
The width of formatiyn is 10 m.and $1de slope 15 13;1 inembankment and 1:1 i cutting.

h; Iqtem s!une of tl* "round may, be a$s~:mecf '1\ luu Cdl;.ua also ll cost of this
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C). Write a note on IS 120n :
Write short notes on (any five )

Q.6

2.-Role of a quantity surveyor :: X

b.-Price escalation clause of contract

¢.-Earmest money deposit

HER
1

: i ': :

B). For a beam of span 501 m a.nd cros sectlon 30 mm h 500 mm, is s reinforeed ith 2-
120 at top and 4-16.@ at bottom out of which'two bars are bent-up and stirrups 8 @ @
150 ¢/c. Calculate tl'e quantltv and cost of mate'mls (Stecl cemeqt sand, aLgtegnes)

QP Code

"d.- Arbitration. - -

e Tyc hnical sanction
. lefﬂrcnce between centar lme method and

Iong wall- short wall method
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